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(2) XERK n F x(n+q) = x(n);
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a+bzm4n—~1
!
B,, % m 4~ Bernoulli # H (m> :'—T—n'——.
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1.2 Dirichlet L A% 57 4b—LI3EESEK
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S 1.3 & x A m SRBFAEF BB L x(-1) = -1, )

=" bl = 27 0L0, D),
b=1

EF,r(x) = Zx(a)e (g) 5 HFe, e(y) = 2™V,
a=1
SR Ty B m WESE, TR

L(l-sx) = %(—){— (-1 }r(0L(s, %)

(RICHR (1] EH 12.11). XHETF x # x0, B
0,x) = —%ébx(b)
(RICHR [1) SEHE 12.20). BY s = 1, WA
_be x)L(1, %).
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SIER 14 Hq>5 AFEM x AR g WRBIERLBL x(-1) =1, B TR
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g—1
EREE Zx(a) =0, F
a=0
g—1
D (da+1)x(4a+1)
a=0
g—1 g—1
=4x(4) > ax(a+4) =4x(4) D _(a+d)x(a+3)
a=0 a=0
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q—

Za+4)xa+4)+4x(4) Z (a+4)x(a+4), (1.3)
a=0 a=9= 1+1
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=4x(4) Y ax(a) +4x(®)g Y x(a+49). (1.4)
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a=1 a=97"+1

FEREE x(-1) =1, F (KR [1] €= 12.20)
g-—1
> ax(a) =
a=1
REHAR 1.3) 5R (1.4), TLIEE

g—1 q-—1

> (a+x(da+1)=4x(4)g Y xa+3)

= —g—1
a=0 a,_g—4 +1
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= _4x(4)q§x < BqZ 1) = —4X(4)q§X <a - q—;—1>
= —4x(4)Q§x (q;—l - a) = —4x'(4)q:2j—:lx(a)- (1.5)
FIRVRE (77 Y30 T A8 2
20(4“ +3)x(4a +3) = 4x(4)q ;: x(a (1.6)
M (1.2), R (1.5) &K (1.6) FTLARE]
4q a
;ax(a)xda) = —8x(4)q; x(a). (1.7)
F#EH, 3T ¢ = 3(mod 4) 7] AR F
4Z_qax(abm (a) = —8x(4)q:§x(a)- (1.8)
KR (17) 5R (1.8) GERRER
anx(am(a) = —8x(4)gS (g, X) : _ (1.9)

ERB x A ¢ FREFE, o I 4 MBEFEmE (¢,2) = 1, BTLL xxa A 4¢
FRAFME. X T ,
xxa(=1) = X(—l)X4(— )=-1,

#ak (1.9) M3E 13 FF _

S (%,x) = —%T(XXUL(LXXO-

IXFEEUEA T 52 1.4
B3 1.5 Hqg>3 AFEH NWHEEEIHLE xy mod g H

S ax(a) = 2"1 Z x(@).
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iERR A Dirichlet $FEHIMERR, B

q o q

2
Z 2ax(2a) = Z 2ax(2a) + Z 2ax(2a)
a=1 a=1 a=2tt

=Y 2ax(2a) + ) (2a—1)x(g+2a—1)+¢_ x(2a—1)
a=1 a=1 a=1

=i ax(a) + q:zz_;x@a —1).
g . ~
ilx<2a—1>+2 (20) = Zx<a>
. < <

1

(1—2x(2 Zax(a) Zax(a) — > 2ax(2a) = qi:x(‘&a = x(2)q Zx(a

By
Q_Tl

2 2
> axte) = 2L X @)

a=1

XPEFRUERE T 513 1.5.
5|3 1.6 Rg>4H—NFHK x AHq %/?#%&ﬂ:%/ix( =-1. WA

S (%x) = 20X - X +X(§)n x4 T(X)L(1,X).

AR 1.2 MEEBRBIE x, §FH 1.4 4o

S (g x) =- X o) L (L 7x),

4’ 21
B F T0oxa) I, Xxa) # 0, B AR # A AB B AR AE AR
5(2) 0

Fsf FHRHAE, @51 E 16 i H B Y x(2) = -1 8,
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Blde, & p 2—ANEHK, LY p=3(mod 8), L4FfER
(2]

% ()0

a=1
H* 9, ( ) A Legendre & 5. &3k 25, % p = 3(mod 8) /& K 4] [ J =

RE Rl kAR R A HAE

IR AR g FFERERE: g = 1(mod 4) M ¢ = 3(mod 4). BT g=1
(mod 4).

FH Dirichlet F4E I Bt R, 5

q-1 5t
4x(4) Z ax{a)= Z dax(4a) + Z 4ax(4a)
a=1 a=_ﬂ%3.

a=1
S g-1
+ Z dax(4a) + Z dax(4a)
a=24¥2 a=22¥1
32 5
Z 4ay(4a) + 2(4(1 +q—1)x(4a—1)
=1 a=1

9-1 q 1
4

+Z4a+2q— 4a—2)+z(4a+3q 3)x(4a ~ 3)
a=1 a=1
q 1

-1
Zax(a ) + x(4) qu(a ~19)
a=1 =1
g-1 g-1
4 4

+2x(4)q Z x(a—2-4) + 3x(4)qz x(a —3-4). (1.10)
a=1 a=1
FER 4= 3q;— 1(mod 9), &3 (1.10), F

3¢~-3

g—1 g—1
4x(4) Y ax(@)=) ax(a) - x(@)q Y x(a)
a=1 a=1

—29+2
a==3

N
all
N

~2x@q 3 x(@) - 3@ x(a)
a=1

a

: (]

+

29-2
4

g—1 32_1
=D ax(e) —x(@)g > x(a) - 3x(4)e¢_ x(a)
a=1 a=1

e
a=9%=




